Homework #05
Problem 1 (CTFT)

CTFT

Assume x(f) << X(f)
Please prove the following CTFT pairs.

I1(¢) C(ZT sinc( f)
A(?) CgT sinc” (1)
Xi-1) o X))

e () & X(f- 1)

CTFT
x(at) <> |%X (5

Problem 2 (DTFT)

I LjajsMm P _sin(2M + D)z f)
xnl= { 0,else © X()= sin(r f)
_ sin(Kzn) bIrr ], f|£K/2
Hn]= T < X (/)= { 0,else
o[n] D(ZT 1

DTFT

1 <> o(f)



Problem 3 Please prove the following CTFSs

CTFS

x(1)= Y 8(t—nT) > X[k]=1
+j272'%l CTFS T)k:m
€ < X[k] :{ 0,else

Problem 4 Please prove the following DTFSs

oo DTFS
x[n]=> 6[n—IN] X[k]=1
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+j27rﬂn DTFS
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